

A Study Of Euler-Matrix Triple Product Summability Method Of The Fourier Series

Rupesh Kumar Mishra, Shambhu Kumar Mishra

(Research Scholar, Department Of Mathematics, Patliputra University, Patna-800020, Bihar, India)

(Professor, Department Of Mathematics, Patliputra University, Patna-800020, Bihar, India)

Abstract:

This research paper is related to the concept of approximation of a function belonging to the Lipschitz class by the Euler-matrix triple product summability method of the Fourier series. The Euler-matrix product summability method has been used while working in this direction. So, many known results may become particular cases of our result. Our result may be useful for future researchers.

Keywords: Euler sum, Matrix mean, product summability method, Lipschitz class, Fourier series, Lebesgue integral.

Date of Submission: 02-05-2025

Date of Acceptance: 12-05-2025

I. Introduction

The studies of the degree of approximation of functions belonging to various classes by using different means have been made by the researchers like [3],[4],[7],[8],[9],[10],[11],[12],[13],[14],[15] et al. Das[2], et al have discussed the degree of approximation of a function by using $(E, q)A$ product summability means of the Fourier series. No work seems to have been done to find the degree of approximation of a function belonging to the Lipschitz class by using Euler-matrix triple product summability means.

In this paper, we present a new theorem on the degree of approximation of functions belonging to the Lipschitz class by the Euler-matrix triple $(E, q)(E, q)A$ product summability method.

II. Definitions And Notations

In this section, we have given the following definitions:

Definition 2.1.

A function $f \in \text{Lip}\alpha$ if

$$|f(x+t) - f(x)| = O(|t|^\alpha) \text{ for } 0 < \alpha \leq 1.$$

Definition 2.2.

L^∞ -norm of a function $f: R \rightarrow R$ is defined by $\|f\|_\infty$

$$\|f\|_\infty = \sup\{|f(x)| : f: R \rightarrow R\}$$

L_p - norm is defined by

$$\|f\|_p = \left(\int_0^{2\pi} |f(x)|^p dx \right)^{\frac{1}{p}}, p \geq 1.$$

The degree of approximation of function $f: R \rightarrow R$ by a trigonometric polynomial t_n [1] is defined by

$$\|t_n - f\|_\infty = \sup\{|t_n - f| : x \in R\} \text{ or } \|t_n - f\|_p = \min\|t_n - f\|.$$

Let f be 2π - periodic function and Lebesgue integrable on $(-\pi, \pi)$. The Fourier series of $f(x)$ is given by

$$f(x) = \frac{1}{2}a_0 + \sum_{n=1}^{\infty} (a_n \cos nx + b_n \sin nx) \quad (1)$$

with n^{th} partial sums $s_n(f; x)$.

The Matrix $A = [c_{mn}]$ is regular if and only if

$$\begin{aligned} (i) \quad & \lim_{m \rightarrow \infty} c_{mn} = 0, \\ (ii) \quad & \lim_{m \rightarrow \infty} \sum_{n=0}^m c_{mn} = 1; \\ (iii) \quad & \exists M > 0, \sum_{m=0}^{\infty} |c_{mn}| < M. \forall m \geq 0. \end{aligned}$$

The Fourier series (1) is said to be summable to s by a matrix (T) method, if $T_m(f; x) \rightarrow s$ as $m \rightarrow \infty$.
The matrix (A) method of the Fourier series is given by

$$t_n = \sum_{n=0}^m c_{m,n} s_n$$

The (E, q) means [6] of s_n is defined by-

$$R_n = \frac{1}{(1+q)^n} \sum_{k=0}^n \binom{n}{k} q^{n-k} s_k. \quad (2)$$

The (E, q) Transformation of Matrix A of s_n defined by

$$\eta_n = \frac{1}{(1+q)^n} \sum_{k=0}^n \binom{n}{k} q^{n-k} t_k = \frac{1}{(1+q)^n} \sum_{k=0}^n q^{n-k} \left\{ \sum_{v=0}^k c_{k,v} t_v \right\} \quad (3)$$

The $(E, q)(E, q)$ transform of a matrix A of s_n is defined by

$$\chi_n = \frac{1}{(1+q)^n} \sum_{k=0}^n \binom{n}{k} \frac{q^{n-k}}{(1+q)^k} \sum_{v=0}^k \binom{k}{v} q^{k-v} t_v \quad (4)$$

$$\chi_n = \frac{1}{(1+q)^n} \sum_{k=0}^n \binom{n}{k} \frac{q^{n-k}}{(1+q)^k} \sum_{v=0}^k \binom{k}{v} q^{k-v} \left\{ \sum_{u=0}^v c_{v,u} t_u \right\} \quad (5)$$

If $\chi_n \rightarrow s$ as $n \rightarrow \infty$, then the series $\sum_{n=0}^{\infty} u_n$ is said to be $(E, q)(E, q)A$ -summable to sum s .

We use the following notations:

$$(i) \phi(x, t) = f(x+t) - f(x-t) - 2f(x).$$

$$(ii) K_n(t) = \frac{1}{2\pi(1+q)^n} \left| \sum_{k=0}^n \binom{n}{k} \frac{q^{n-k}}{(1+q)^k} \sum_{v=0}^k \binom{k}{v} q^{k-v} \left\{ \sum_{u=0}^v c_{v,u} \frac{\sin\left(u + \frac{1}{2}t\right)}{\sin \frac{t}{2}} \right\} \right|$$

Further, the method $(E, q)(E, q)A$ is assumed to be regular.

III. Known Theorem

Dealing with the degree of approximation of the Fourier series by-product means, $(E, q)A$ in 2013, Padhy [4] proved The following theorem:

Theorem

Let $A = (a_{mn})_{\infty \times \infty}$ be a regular matrix. if f is a 2π - Periodic function of class $Lip\alpha$, then the degree of approximation by product $(E, q)A$ - summability mean of Fourier series (1) is given by

$$\|\tau_n - f\|_{\infty} = O\left(\frac{1}{(n+1)^{\alpha}}\right), 0 < \alpha < 1.$$

IV. Main Theorem

The objective of this paper is to prove the following theorem.

Theorem

Let $A = (a_{mn})_{\infty \times \infty}$ be a regular matrix. if f is a 2π - Periodic function of class $Lip\alpha$ Then the degree of approximation by product $(E, q)(E, q)A$ - summability means of the Fourier series (1) is given by

$$\|x_n - f\| = O\left(\frac{1}{(n+1)^{\alpha}}\right), 0 < \alpha < 1.$$

V. Lemmas:

For the proof of our theorem, we have required the following lemmas:

Lemma

$$k_n(t) = O(r) \text{ for } 0 \leq t \leq (n+1)^{-1}.$$

Proof. For $0 \leq t \leq (n+1)^{-1}$, we have

$$|K_n(t)| = \frac{1}{2\pi(1+q)^n} \left| \sum_{k=0}^n \binom{n}{k} \frac{q^{n-k}}{(1+q)^k} \sum_{v=0}^k q^{k-v} \left\{ \sum_{u=0}^v c_{v,u} \frac{\sin\left(u + \frac{1}{2}t\right)}{\sin \frac{t}{2}} \right\} \right|$$

First, we solve:

$$\begin{aligned}
 \left| \sum_{u=0}^v c_{v,u} \frac{\sin\left(u + \frac{1}{2}\right)t}{\sin\left(\frac{t}{2}\right)} \right| &\leq \sum_{u=0}^v c_{v,u} \frac{\left(u + \frac{1}{2}\right)}{\left(\frac{t}{\pi}\right)} \\
 &= \frac{\pi}{2} \left\{ \sum_{u=0}^v c_{v,u} (2u + 1) \right\} \\
 &= \frac{\pi}{2} \left\{ \sum_{u=0}^v c_{v,u} + 2 \sum_{u=0}^v u c_{v,u} \right\} \\
 &= \frac{\pi}{2} \{ 1 + 2(c_{v,1} + 2c_{v,2} + 3c_{v,3} + \dots + vc_{v,v}) \} \\
 &\leq \frac{\pi}{2} \{ 1 + 2(c_{v,1} + vc_{v,2} + vc_{v,3} + \dots + vc_{v,v}) \} \\
 &= \frac{\pi}{2} \{ 1 + 2v(c_{v,1} + c_{v,2} + c_{v,3} + \dots + c_{v,v}) \} \\
 &= \frac{\pi}{2} \{ 1 + 2v(c_{v,0} + c_{v,1} + c_{v,2} + \dots + c_{v,v}) - 2vc_{v,0} \} \\
 &\leq \frac{\pi}{2} \{ 1 + 2v(1 - c_{v,0}) \} \\
 &\leq \frac{\pi}{2} (1 + 2v) \\
 &= O(v + 1)
 \end{aligned}$$

Now, we use the above result in $K_n(t)$

$$\begin{aligned}
 |K_n(t)| &\leq \frac{1}{4\pi(1+q)^n} \left| \left[\sum_{k=0}^n \binom{n}{k} \frac{q^{n-k}}{(1+q)^k} \sum_{v=0}^k q^{k-v} \{2v+1\} \right] \right| \\
 &\leq \frac{1}{4\pi(1+q)^n} \left| \left[\sum_{k=0}^n \binom{n}{k} q^{n-k} (2k+1) \right] \right| \\
 &\leq \frac{1}{4} (2n+1) \\
 &= O(n)
 \end{aligned}$$

Lemma

$K_n(t) = O\left(\frac{1}{t}\right)$ for $(n+1)^{-1} \leq t \leq \pi$.

Proof. For $t \in \left[\frac{1}{n+1}, \pi\right]$, $\sin\left(\frac{t}{2}\right) \geq \frac{t}{\pi}$.

$$\begin{aligned}
 |K_n(t)| &= \frac{1}{2\pi(1+q)^n} \left| \left[\sum_{k=0}^n \binom{n}{k} \frac{q^{n-k}}{(1+q)^k} \sum_{v=0}^k \binom{k}{v} q^{k-v} \left\{ \sum_{u=0}^v c_{v,u} \frac{\sin\left(u + \frac{1}{2}\right)t}{\sin\frac{t}{2}} \right\} \right] \right| \\
 &\leq \frac{1}{2\pi(1+q)^n} \left| \sum_{k=0}^n \binom{n}{k} \frac{q^{n-k}}{(1+q)^k} \sum_{v=0}^k \binom{k}{v} q^{k-v} \left\{ \sum_{u=0}^v \frac{\pi a_{ku}}{t} \right\} \right| \\
 &\leq \frac{M}{2(1+q)^n t} \left| \sum_{k=0}^n \binom{n}{k} \frac{q^{n-k}}{(1+q)^k} \sum_{v=0}^k q^{k-v} \right| \text{ by regularity condition} \\
 &= O\left(\frac{1}{t}\right)
 \end{aligned}$$

Proof of The Main Theorem

Proof. Using the Riemann-Lebesgue theorem and considering the n^{th} partial sum of the Fourier series of $f(x)$ as $s_n(f; x)$ and following Titchmarsh [5], We have

$$s_n(f; x) - f(x) = \frac{1}{2\pi} \int_0^\pi \phi(t) \frac{\sin\left(n + \frac{1}{2}\right)t}{\sin\frac{t}{2}} dt.$$

Further, under the A-Transform of $s_n(f; x)$, we have

$$t_n - f(x) = \frac{1}{2\pi} \int_0^\pi \phi(t) \sum_{n=0}^m c_{mn} \frac{\sin\left(n + \frac{1}{2}\right)t}{\sin \frac{t}{2}} dt.$$

Then, considering τ_n as the (E, q) A-Transform of $s_n(f; x)$, we obtain

$$\tau_n - f(x) = \frac{1}{2\pi} \int_0^\pi \phi(t) \sum_{k=0}^n \binom{n}{k} q^{n-k} \left\{ \sum_{v=0}^k c_{k,v} \frac{\sin\left(v + \frac{1}{2}\right)t}{\sin \frac{t}{2}} \right\}$$

Directing the $(E, q)(E, q)$ A transform of $s_n(f; x)$ by χ_n , we have

$$\begin{aligned} |\chi_n - f(x)| &= \frac{1}{2\pi(1+q)^n} \int_0^\pi \phi(t) \sum_{k=0}^n \binom{n}{k} \frac{q^{n-k}}{(1+q)^k} \sum_{v=0}^k \binom{k}{v} q^{k-v} \left\{ \sum_{u=0}^v c_{v,u} \frac{\sin\left(u + \frac{1}{2}\right)t}{\sin \frac{t}{2}} \right\} dt. \\ &= \int_0^\pi \phi(t) K_n(t) dt \\ &= \left\{ \int_0^{\frac{1}{n+1}} + \int_{\frac{1}{n+1}}^\pi \right\} \phi(t) K_n(t) dt \\ &= I_1 + I_2, \quad \text{1 cmsay} \end{aligned}$$

Now

$$\begin{aligned} |I_1| &= \frac{1}{2\pi(1+q)^n} \int_0^{\frac{1}{n+1}} \phi(t) \sum_{k=0}^n \binom{n}{k} \frac{q^{n-k}}{(1+q)^k} \sum_{v=0}^k \binom{k}{v} q^{k-v} \left\{ \sum_{u=0}^v c_{v,u} \frac{\sin\left(u + \frac{1}{2}\right)t}{\sin \frac{t}{2}} \right\} dt. \\ &\leq O(n) \int_0^{\frac{1}{n+1}} |\phi(t)| dt \quad \text{using Lemma 5.1} \\ &= O(n) \int_0^{\frac{1}{n+1}} |t^\alpha| dt. \\ &= O(n) \left[\frac{t^{\alpha+1}}{\alpha+1} \right]_0^{\frac{1}{n+1}} \\ &= O(n) \left[\frac{1}{(\alpha+1)(n+1)^{\alpha+1}} \right]. \\ &= O \left[\frac{1}{(n+1)^{\alpha+1}} \right]. \end{aligned}$$

Next

$$\begin{aligned} |I_2| &= \frac{1}{2\pi(1+q)^n} \int_{\frac{1}{n+1}}^\pi \phi(t) \sum_{k=0}^n \binom{n}{k} \frac{q^{n-k}}{(1+q)^k} \sum_{v=0}^k \binom{k}{v} q^{k-v} \left\{ \sum_{u=0}^v c_{v,u} \frac{\sin\left(u + \frac{1}{2}\right)t}{\sin \frac{t}{2}} \right\} dt. \\ &\leq \int_{\frac{1}{n+1}}^\pi |\phi(t)| |K_n(t)| dt \\ &= \int_{\frac{1}{n+1}}^\pi |\phi(t)| O\left(\frac{1}{t}\right) dt \quad \text{using Lemma 5.2} \\ &\leq \int_{\frac{1}{n+1}}^\pi t^{\alpha-1} dt \\ &= O\left(\frac{1}{(n+1)^\alpha}\right) \end{aligned}$$

Then, from the above results, we have

$$\begin{aligned} |\chi_n - f(x)| &= O\left(\frac{1}{(n+1)^\alpha}\right), \quad \text{for } 0 < \alpha < 1 \\ \|\chi_n - f(x)\| &= \sup_{-\pi < x < \pi} |\chi_n - f(x)| \\ &= O\left(\frac{1}{(n+1)^\alpha}\right), \quad \text{for } 0 < \alpha < 1 \end{aligned}$$

Hence, the proof of the main theorem.

VI. Conclusion

The result established here is a more general form than some earlier existing results in the sense that one $(E, q) = 1$ our proposed mean is reduced to $(E, q)A$ Mean.

References

- [1] A. Zygmund, Trigonometric Series, Cambridge Univ. Press, Cambridge, 3rd Rev. Ed., 2002.
- [2] A.A.Das, S.K. Paikray, P.Parida, U.K.Misra, Degree Of Approximation In The Generalized Class $(E, Q)A$ -Product Summability Means Of Fourier Series, Twms J.App. And Eng. Math. V.10, Special Issue, 2020, Pp. 53-62
- [3] B. E. Rhoades, On The Degree Of Approximation Of Functions Belonging To Lipschitz Class By Hausdorff Means Of Its Fourier Series, Tamkang Journal Of Mathematics, 34 (2003), No. 3, 245-247. Mr2001920(2004g:41023). Zbl 1039.42001.
- [4] B. P. Padhy, Banitamani Mallik, U.K. Misra And Mahendra Mishra, On Degree Of Approximation Of Fourier Series By Product Means $(E, Q)A$, International Journal Of Mathematics And Computation, Issn 097- 570x(Online), Issn 0974-5718 (Print), Vol19; Issue No.2; Year 2013 Copyright C 2013 By Ceser Publications.
- [5] E.C. Titchmarsh: The Theory Of Functions, Oxford University Press, P.P. 402-403(1939)
- [6] G. H. Hardy, Divergent Series, Oxford University Press, 1949.
- [7] H. K. Nigam And K. Sharma, Degree Of A Class Of Function By $(C, 1)(E, Q)$ Means Of Fourier Series.
- [8] H. K. Nigam, On Approximation Of Function Of Functions By Product Means, $(C, 1)(E, Q)$ In $Lip(\Xi(T), R)$ Class, Journal Of Computer Science And Computational Mathematics, 3(2), 2013, 19-24.
- [9] J. K. Kushwaha, On The Approximation Of Generalized Lipschitz Function By Euler Means Of Conjugate Series Of Fourier Series, Sci. World J., 2013 (2013).
- [10] Kalpana Saxena, Manju Prabhakar, A Study On $(E, Q)(E, Q)$ Product Summability, International Journal Of Advanced Technology And Engineering Research(Ijater).
- [11] K. Qureshi, On The Degree Of Approximation Of Functions Belonging To The Lipschitz Class By Means Of A Conjugate Series, Indian J. Pure Appl. Math., 12(9) (1981), 1120-1123.
- [12] K. Qureshi, On The Degree Of Approximation Of A Function Belonging To The Class $Lip\alpha$, Indian J. Pure Appl. Math. 13 No. 8 (1982), 898-903.
- [13] P. Chandra, Trigonometric Approximation Of Functions In L_p Norm, J. Math. Anal. Appl. 275 No. 1 (2002), 13-26.
- [14] Khatri, K., Mishra, V. N., Degree Of Approximation By The (T, E^1) Means Of Conjugate Series Of Fourier Series In The Holder Metric, Iran J.Sci Trans Sci.
- [15] Rupesh Kumar Mishra And Shambhu Kumar Mishra, Degree Of Approximation Of The Conjugate Functions Belonging To $Lip(A, R)$ Class By $(C, 1)(E, Q)(E, Q)$ Product Means Of Conjugate Fourier Series, Communications On Applied Nonlinear Analysis Issn: 1074- 133x Vol 32 No. 4s(2025)